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N E#:3E] LT 707 0.7 IR EJLISH 876 00.0% EEE BB )T 5,99 00.0
0[dbiEE A Bl #T 147 0.7 RIE fie] 5 BT 3,710 00.0% EEE EZHH 22 00.0
N E#:3E] FYEHT 136 0.7 RIRE s BT 373 00.0% EEE HET 74 00.0
N E#:3E] [EE AT BT 498 0.7 RERE J\FHHET 1,502 00.0% EEE ZRHTH ,620 00.0
N E#:3E] 2 FRET 417 0.7 RIE FERHT 484 00.0% EEE HAh 341 00.0
N E#:3E] EHAHAT 641 0.7 RIRE IEHT 1,807 00.0% EEE REH ,808 00.0
0[dbiEE L= R EFHET 747 0.7 RERE FIARHT 808 00.0% B2 AEm 485 00.0
[E#:3E] & AT 61 0.7 HARE HAR 38,17 00.0 EEE B3 773 00.0%
[E#:3E] EIRGLN 214 0.7 HARE EF 9,38 00.0 B ] 52 BT 460 00.0%
N E#:3E] TIIIET 188 0.7 HARE HAT 10,97 00.0 EEE JIRET 598 00.0%
[E#:3E] EF) 230 0.7 HARE {EB 7,967 00.0 EEE AEH 805 00.0%
0[dbiEE INEET 163 0.7 HARE BB 6,953 00.0 EEE SRR AT 1,067 00.0%
0[dbiEE 2=0 257 0.7 HARE KHERT 5177 00.0 EEE XA 341 00.0%
[E#:3E] FL3CHT 48 0.7 WAR it 04 00.0 EEE R SERHT 293 00.0%
[E#:3E] S IRET 1,184 0.7 HARE AAGR T 15 00.0 EEE LB R 54 00.0%
[E#:3E] 2 BIRT 237 0.7 HARE <o 776 00.0 EEE a2 80 00.0%
[E#:3E] FEE BT 807 0.7 HARE TEH 4,661 00.0 BEER A ERRT 63 00.0%
[E#:3E] HEET 0. 0.7 HARE 28 FHT 1,657 00.0 EEE Y T 890 00.0%
0[dbiEE INEIKET 3 0.7 HARE BEART 666 00.0% B2 pAlES] 23 00.0%
0[dbiEE 3l FF BT 48 0.7 HARE =Ll 804 00.0% EEE HZET 19 00.0%
0[dbiEE XL 458 0.7 HARE FHERT 1,213 00.0 EEE = BT 5 00.0%
0[dbiEE ELERET 262 0.7 HARE 7 ARHT 1,855 00.0 EEE BRFOAT 3 00.0%
[E#:3E] ifF] At it BT 401 0.7 HARE BART 605 00.0 EEE REXBHE 1,21 00.0
0[dbiEE EEETEN 800 0.7 HARE SRR ET 2,148 00.0 B2 FaEH 1,70 00.0
[E#:3E] - By BT 347 0.7 HARE ARZEHT 1,345 00.0 EEE SRIGH 534 00.0%
N E#:3E] SESATHT 757 0.7 N FRZa 1| BT 836 00.0 EEE FEM 406 00.0%
0[dbiEE T HRET 567 0.7 HER HEE 35,430 00.0 EEE A2 BT 1,061 00.0%
0[dLiEE L T iRET 341 0.7 HER AiIAE T 24,092 00.0 EEE RERET 395 00.0%
DE%:2E EEIBHT 445 0.7 HER ST 29,032 00.0 EEE 5 559 00.0%
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HEEAEL FRICETAHERCTIREDEMRKIR (1)
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| NEASE | R3S R IR & REER REERE] A B | [IBE[HEFERZ BREER REERFR % IS EBETRES BREER REERER %
0[dbiEE KAHHT 92 0.7 HER BREA 1,15 00.0% EEE AJIH 935 00.0%
N E#:3E] IREHT 60 0.7 HEE L Eit 6 00.0% EEE EJNES 477 00.0%
N E#:3E] 2R I BT 58 0.7 HER 237 ] 4 00.0% EEE FHA 401 00.0%
N E#:3E] EEHT 445 0.7 HEE T{—HHE 210 00.0% EEE o BT 31 00.0%
0[dbiEE o F R ET 397 0.7 HER LS 5 00.0% EEE =EHT 1,187 00.0%
0[JbiEE BEH 187 0.7 HEE EEL) 864 00.0% EEE ILEFET 264 00.0%
0| FHE EHE 23,554 0.7 HER Rl 55 00.0% EEE e 171 00.0%
0| FHE ZHM 181 0.7 HER R 9 00.0% EEE = [ BT 56 00.0%
0| FHE FRIZHET 1,013 0.7 HEE NS 22 00.0% EEE PR ET) 38 00.0%
NS KESHT 385 0.7 2 N35H 46 00.0% EEE RITHET 39 00.0%
NS ARANET 761 0.7 HEER BRF0H 500 00.0% EER BEH 5 00.0%
0| FHE HRET 497 0.7 HER EXoLN 2,47 00.0% B2 F Ay 616 00.0%
N IRt 658 0.7 HEE AR HT 94 00.0% RIRE KRR 58,095 00.0
0| FHE A FEHET 37 0.7 HER BAFNET 80 00.0% RIE KET 19,164 00.0
NS FEM 92 0.7 HER F 1% FHET 819 00.0% RIE Eoig 10,988 00.0
NS HFEHET 895 0.7 HEE KSR ET 2,988 00.0 RIE tiEh 9,55 00.0
0| FHE ¥ #7 254 0.7 HEE EES0] 1,788 00.0 RIRE ERohn 10,03 00.0
0| FHE FAERET 97 0.7 BEE BEE 114,192 00.0 RIRE AREH 4,77 00.0
0| FHE [EAR:) 78 0.7 BEE NsT 7,100 00.0 RIE fEm T 3,80 00.0
NEETS HEAE 1 0.7 BEE FRiR 3,764 00.0 RERE RE/T I T 5,196 00.0
NE=ETSY = 3,06 0.7 BEER SRAET 5,181 00.0 RIE TZmh 3,124 00.0
0 5F 82 AfiEh 2,094 0.7 BEE AET 5,491 00.0 RIRE wiam 4,411 00.0
0[=F82 =M 1,607 0.7 BEE Bl 9,595 00.0 RIWE BEART 2,621 00.0
NE=ETSY —Em 7,343 0.7 BEE EA™ 0,446 00.0 RERE SRk 1,708 00.0
NE=ETSY EXshn 844 0.7 BEER LEM 6,59 00.0 RERE E[#/ 354 2,723 00.0
NE=ETSY —Fm 583 0.7 BEER Zhim 7,64 00.0 RIRE EADLY 5276 00.0
0[=F82 J\IEFH 367 0.7 BEE BaTH 26,24 00.0 REBE BFm 6,497 00.0
O[5FE AFH 342 0.7 BEE Brth 4,545 00.0 RIRE F At 6,763 00.0
0|=HE SLBT 3,498 0.7 BEE FHH 11,862 00.0 RIE <IEH 22,366 00.0
0| =R EXH 5,360 0.7 BEE AEH 10,377 00.0 RIWE [N 11,814 00.0
0| =R TH 771 0.7 BEER AT 5,890 00.0 RIRE I8t 4,826 00.0
0|=HE At EHET 710 0.7 BEE T 6,241 00.0 RIE AT 6,157 00.0
0| =R JI1E T 475 0.7 BEE Il 5,298 00.0 RIRE BEXET 470 00.0
0|=HE [T 767 0.7 BEE AT 10,338 00.0 RIE I 861 00.0
0[=mE AEHt 554 0.7 BEE J\BiTH 6,379 00.0 BT SRA T 980 00.0
0|=HE £ FRET 481 0.7 BEE ELRM 8,397 00.0 RIE JRERT ,709 00.0
0|=HE AEET 951 0.7 BEE = 10,676 00.0 RIRE FEE T ,168 00.0
0|=HE = PEAT 699 0.7 BEE E=Fh 3,271 00.0 RIRE NEHNISH ,830 00.0
NS MEE 20,260 0.7 BEE BEh 4,079 00.0 RIE NG 578 00.0
NS BERT 2,7 0.7 BEER Sl 6,375 00.0 RIE 4T 7,463 00.0
NS [SNESH 14 0.7 =587 2,928 00.0 RIE (TH T 2,055 00.0
NS [EAd 1,418 0.7 E & ILET 1,878 00.0 RIE F3=ha 2,894 00.0
O[fXEE /NRET 230 0.7 A T 610 00.0 RIRE KEHBLH 4,877 00.0
NS EEL 144 0.7 SBIIET 816 00.0 RERE MEEH 3,48 00.0
0[FEHE P& ET 850 0.7 i LLIET ,059 00.0 RIRE TRIRHET 2,08 00.0
NMEACY A=Y 19,031 0.7 ANITHT 509 00.0 BT A ET 986 00.0
NEASY EAER™ 927 0.7 JI S HT 191 00.0 RERE 3 BB T 1,046 00.0
NEASY FITHT 506 0.7 &= RET 994 00.0% RIRE BN 3,387 00.0
NEASY A6 HET 378 0.7 EEHVOHET 589 00.0% RERE RFHT 781 00.0%
NEASY FHZET 313 0.7 1 FEET 535 00.0% RIRE EJLISH 876 00.0%
NEASY EEIL 436 0.7 & ERHT 624 00.0% RIE fie] 5 BT 3,710 00.0%
NMEACY = JIET 598 0.7 RIBET 417 00.0% BT s R AT 373 00.0%
NS — AT 3,620 0.7 /NEEEFET 705 00.0% RIRE J\FHHET 1,502 00.0
NS mEET 3,1 0.7 RERA 06 00.0% RERE IEHT 1,807 00.0
NS S BT 77 0.7 - EBET 2,278 00.0 RERE FIARHT 808 00.0
0|251E =] 5 BT 460 0.7 FEHET 95 00.0 HARE AR 38,17 00.0
0|251E JI{RET 598 0.7 = T 23 00.0 HARE FEET 39,52 00.0
0|251E R 4ERET 293 0.7 [ ALl 980 00.0 HARE EF T 38 00.0
0|ESE H FHET 214 0.7 HMRRT 023 00.0 WAR AT 1097 00.0
0|ESE LB R 154 0.7 ES FEMH 70,493 00.0 WAR £ 7,967 00.0
0|251E EEREL 263 0.7 ETY sFh 3,794 00.0 WAR BBt 6,953 00.0
0|ESE SRIEH 534 0.7 ETY it 50,405 00.0 WAR EEAi 4,793 00.0
0|ESE EJES 4717 0.7 ETY AR LT 2,760 00.0 WAR AU 12,875 00.0
NS =&HT 1,187 0.7 EZR WEH 34,238 00.0 HARE El5hd 6,476 00.0
0|EEE /NEFRT 644 0.7 ETY R 5,646 00.0 WAR NG 5177 00.0
0|ESE 2T 616 0.7 ETY AT 10,388 00.0 WAR EiRT 04 00.0
NER5TY B 1,796 0.7 =8 BEm 3,840 00.0 HARE AAE R T 15 00.0
NEIZTY AT 6,157 0.7 ETY [F ki 718 00.0 HAR Ko 776 00.0
NEIZTY 1k S T 1,046 0.7 ETY Rl 17,894 00.0 WAR AT 520 00.0
NEIZTY AFHT 78 0.7 ETY ANFHKH 15,352 00.0 WAR T 4,661 00.0
NEIZTY i RIRT 37 0.7 ETY EFh 8,656 00.0 WAR = JI1ET 2,532 00.0
O[#EARE B 4,79 0.7 £ [DGd 1,794 00.0 HAE 25T 1,657 00.0
0| AR EiRT 2,04 0.7 ETY E: DN 7,890 00.0 WAR B ARET 666 00.0%
O[#EARE 25 FHT 1,657 0.7 £ I\ 4,074 00.0 HAE h 5 HT 804 00.0%
0 HR2a 1| BT 836 0.7 £ BHFH 5,562 00.0 HAE BT 1,213 00.0
0 BET 021 0.7 =8 [mEE 2,315 00.0 AR TR 2,999 00.0
0 E 268 0.7 ETY FEH 4,292 00.0 WAR FFART 1,855 00.0
0 R 15 0.7 ETY W 2,836 00.0 WAR AT 605 00.0
0 EROLD| 55 0.7 ETY EA=1:1 818 00.0% WAR AR AT 2,148 00.0
0 EEET 9 0.7 =8 FREEHT 803 00.0% HARE HRZEHT 1,345 00.0
0 FTEh # BT 3 0.7 3] h+hEET 760 00.0% AR FREA[ )11 BT 836 00.0
0 & RET 94 0.7 £ 2 LLIET 437 00.0% HER HEE 35,430 00.0
0 IS LLIET 610 0.7 £ 1 ST 1,498 00.0% HER ST 29,032 00.0
0 & BT 624 0.7 £ — =T 985 00.0% HER [EEH 7,025 00.0
0 /NEEEF T 705 0.7 £ B R AT 442 00.0% HER R TH 17,180 00.0
0 76 1| BT 87 0.7 =8 REH 872 00.0% HEE AHM 18,926 00.0
0 ZEHAT 1,95 0.7 3] B AT 635 00.0% HEE Fel=hg 3,021 00.0
03 U BT 30 0.7 =8 RARET 316 00.0% HEE EEM T 5,358 00.0
0 A+ LB BT 760 0.7 =8 REHT 359 00.0% HEE T 4,798 00.0
0 B HT 1,498 0.7 £ AL EH 491 00.0% HEE ehd 4,311 00.0
0 —=HT 985 0.7 £ ST BT 306 00.0% HEE = [ ,268 00.0
0 R 635 0.7 FER MEERAE 29 00.0% =z 491 00.0
0 R EHT 59 0.7 X S 146,247 00.0 HEYH ,768 00.0
0 SRR 06 0.7 HRAD FHREX 4,941 00.0 BEA 151 00.0
0 FHRAX 4,941 0.7 X FRX 0,178 00.0 25 [ ] 2,150 00.0
0 28K 11,902 0.7 HRAD BEX ,700 00.0 TI—HE 210 00.0%
0 K EHT 451 0.7 X XRX 876 00.0 L 5 00.0%
O[#Z)IIE | XFHHET 1,236 0.7 X BRKX 374 00.0 EEL) 864 00.0%
NEEEINTEI 5] 306 0.7 HRAD FEHKX 14,319 00.0 REFRET 28 00.0%
NER wE 024 0.7 X STHRX 33,874 00.0 SEZRAL 55 00.0%
NER L 12,957 0.7 X =S 22,663 00.0 EEET 29 00.0%
NER fe % B 846 0.7 Y BEX 13,093 00.0 A& 210 00.0%
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0| #imiE {ZEiETﬁ 3,201 0.7 RRAD KHRKX 40,803 00.0 HEE MEEESH 246 00.0%
NER ] 25 BT 426 0.7 HRAD tHEABZX 50,365 00.0 HER BRFIAE 500 00.0%
N PIBEESH 334 0.7 HRAD ERX 9,29 00.0 HER FHTE N+ BT 931 00.0%
O[=ILE 37 ILIET 1,757 0.7 HRAD FEFX 4,06 00.0 HER EHET 2,47 00.0%
N ETS EELN 584 0.7 X X 29,07 00.0 HEE RERT 94 00.0%
NESITES BINE 21,179 0.7 X Z2EX 1,90 00.0 HER BAFNET 80 00.0%
NESTES RN 588 0.7 HRAD E[A=S 8,2 00.0 HER T HET 819 00.0%
0[RJIE JIAE BT 666 0.7 X FINX 2,526 00.0 HER KSR ET 2,988 00.0
NESITES P B B HT 1,284 0.7 X AEX 33,020 00.0 HER EES0] 1,788 00.0
NESTTS HEZSHT 734 0.7 HRAD HEX 47,115 00.0 BEE BER 114,192 00.0
NS T it AT T 717 0.7 HRAD BEX 29,268 00.0 BER SLM-FER 104,061 00.0
0[t2F 12 B HITHT 1,515 0.7 X IR 48,320 00.0 BER JIEE 27,100 00.0
0[t2F 12 =T 709 0.7 X NEFhH 38,824 00.0 BER AT 13,526 00.0
NMETSY i )1 = SFRET 33 0.7 X I 12,410 00.0 BER =K3 44,584 00.0
NMETSY FAERET 67 0.7 X =Em 13,026 00.0 BER THET 5317 00.0
NMETSY = L )IET 53 0.7 HRAD eLind 8,589 00.0 BER BRM 4,184 00.0
0| REHE [ & 3,275 0.7 X s 19,481 00.0 BEE FriR™ 23,764 00.0
0| REFE A 1,266 0.7 HRAD BETH 8,197 00.0 BER SRAET 5,181 00.0
0[EFE SLEHET 410 0.7 G EEEig 15,937 00.0 BEE hnZEm 7,922 00.0
0| REHE TR ET 1,276 0.7 HRAD hEFHH 8,260 00.0 BER AET 5,491 00.0
0[EFE =1 RET 1,075 0.7 G NEH 4,473 00.0 BEE EXNIGH 6,578 00.0
0| REHE FAJIIHT 967 0.7 HRAD EEGd 3,613 00.0 BER A=k 15,486 00.0
0| REFE 3] e ] 265 0.7 X EXoiH 0,734 00.0 BER Bl 595 00.0
0| REHE ] 25 44 541 0.7 HRAD E 55 8,341 00.0 BER PIEH 557 00.0
0[EFE TEH 289 0.7 G Ebkd 4,647 00.0 BEE ENH 8,272 00.0
0[EFE 2R 581 0.7 G fREH 3,329 00.0 BEE ER™ 0,446 00.0
0[EHE REH 8 0.7 G JaiTH 5,196 00.0 BEE LB 6,59 00.0
0| REFE REH 166 0.7 X R 6,42 00.0 BER Zhim 7.64 00.0
0| REHE L) 632 0.7 HRAD BT 5,35 00.0 BER BAT 26,24 00.0
0| REHE E2TE0 10 0.7 HRAD RAR K 8,28 00.0 BEE Brth 4,545 00.0
0| REFE {EIRET 44 0.7 X REA 5,94, 00.0 BER FHm 11,862 00.0
0| REHE SR HT 700 0.7 HRAD FEyR T 7,750 00.0 BER Bl ™ 11,037 00.0
0| REFE AT EMEEREES 191 0.7 X PR 4,040 00.0 BEE AT 5,890 00.0
0| REE REEERG/NFREES 112 0.7 X HEDHET 6,064 00.0 BER e 6,241 00.0
NGEY IR B IE 39,730 0.7 X FER IR T 14,245 00.0 BER FEET 12,982 00.0
NGEY B 7,651 0.7 X B HT 2,239 00.0 BER GG 5,298 00.0
NGEEY XEM 1,378 0.7 HRAD B O H BT 1,531 00.0 BER AETH 10,338 00.0
NGEEY P87 [ BT 88 0.7 X 1aE 88 00.0% BEE LA 4,046 00.0
NGEY KEFHET 1,855 0.7 X EET50 204 00.0% BEE J\EiH 6,379 00.0
NGEY =L 08 0.7 X K EH 45 00.0% BER ELRM 8,397 00.0
0[IREE FRNFRERREFES 96 0.7 X FEH 3 00.0% BEE = 10,676 00.0
NEEE] REHR/\BR/\ETHEE 01 0.7 X HEH 5 00.0% BER EMET 4,136 00.0
NETELS FEMm 1,549 0.7 HRAD M,i.%ﬁ 68 00.0% BER RET 7,513 00.0
NEFTTY EAAN % BT 65 0.7 HRAD =M 39 00.0% BER E=FH 3,271 00.0
0[=F8 B 74 0.7 X IR S 32 00.0% BEE [a=ni 4,775 00.0
0[=F8 X = IR ET 70 0.7 R J\X & 467 00.0% BEE EEE 4,079 00.0
0[=F8 2 ST 831 0.7 5 14 00.0% BER Sl 6,375 00.0
NEET %EEBU 756 0.7 INSE R A 254 00.0% BER SL#HEH 051 00.0
NG Eh 933 0.7 Vi 11,095 00.0 BEER ElELH ,909 00.0
0| AR AT 2,071 0.7 BiR™ 34,123 00.0 BEE #= 947 00.0
0| AR AT 1,058 0.7 EZAGkH 19,084 00.0 BEER =57 1928 00.0
0| AR AT 618 0.7 ¥ 3,744 00.0 BEE E & ILIET 1,878 00.0
0| AR AT 681 0.7 PNt 17,397 00.0 BEE FEET) 610 00.0
NG 1,232 0.7 FEET 6,997 00.0 BER SBIIET 816 00.0
0| AR IS SHHNE2hPEREA 26 0.7 EEfE 169 00.0 BEE i LLIET ,059 00.0
0| KRR A3 PN 119,309 0.7 i 971 00.0 BEE /N IET ,509 00.0
NENAG WE3 BT 747 0.7 T 6,967 00.0 BER JI SHT 191 00.0
0| EEE LR 5,902 0.7 EINL:N 3,865 00.0 BEE & RET 994 00.0%
0| EEE FHEZE L ,958 0.7 3T 579 00.0% BEER IS LB 610 00.0%
0| EEE mHhnlh ,994 0.7 K FHET 1,236 00.0% BEE EEHVOHET 589 00.0%
0| EEE B ,100 0.7 #i3 FR BT 619 00.0% BEER 1 EET 535 00.0%
0| EEE PR 00 0.7 [ITE[4:53 564 00.0% BEE & ERHT 624 00.0%
0| EEE T ) [T 76 0.7 FEARHET 95 00.0% BEE RIBET 417 00.0%
0| EEE L ERET 866 0.7 riam 58,159 00.0 BER /N2 Er T 705 00.0%
0| EEE iR R T 878 0.7 EREm 19,368 00.0 BER HBRXH 106 00.0%
0| EEE EhbLiMATHE 427 0.7 +BEH 314 00.0 BEE EXL) 765 00.0%
0|ZRE HiEH ,666 0.7 R 888 00.0 BER 76 1| BT 879 00.0%
0[=RE T 165 0.7 ¥ =hd 024 00.0 BEE L EE 2,278 00.0
0|=ZRE FEd ,632 0.7 i 12,957 00.0 BEE FEHET 95 00.0
0|ZRE ZIEET 371 0.7 fe % B7 846 00.0 BEE = RHT 23 00.0
0|ZRE & EPHT 261 0.7 B& PRI 1,893 00.0 BEER [ ALl 98 00.0
0|=ZRE EIIIESH 5 0.7 7] 25 BT 426 00.0% BEE HMRET 02 00.0
O[F1ERILIE  [F0FRLIE 21,189 0.7 H ZEIB T 238 00.0% FEE FEE 91,90 00.0
NS T - 2,993 0.7 iR 412 00.0% £ FEM 70,49 00.0
N ENE T ERE 351561 95 0.7 PUBEES 334 00.0% £ k¥ 794 00.0
o[fFLE [Z:EET 793 0.7 BAJI1# 285 00.0% FER Gl 31,593 00.0
O[f1FxILE | EHET 295 0.7 RE#N 31 00.0% FEE iETH 50,405 00.0
O[FNFILE  [A 7 ~HT 881 0.7 =WE 21,736 00.0 FER fELLT 2,760 00.0
N ST =) 1,251 0.7 =G 29,081 00.0 FEE AEEH 10,607 00.0
N TN B R 848 0.7 = 0,983 00.0 FEE [N=ht 34,238 00.0
NEET 5 b BT 116 0.7 fiEH 595 00.0 FEE HHEM 11,032 00.0
NEET S BEAT 400 0.7 EEnd ,009 00.0 FEE EET 5,646 00.0
0[SHE J\EBHT 1,134 0.7 W 723 00.0 FER AN 10,388 00.0
NEET = ERET 447 0.7 gtk 7,045 00.0 FEE kR 12,036 00.0
0| SERE EEEZ0 221 0.7 FHiEH 314 00.0 FEE HEm 3,840 00.0
NEET 1E|2HT 788 0.7 37 ILIET 1,757 00.0 FEE JBH 4,496 00.0
0| SERE EELN 177 0.7 AZEHT 1,476 00.0 FEE BEHH 14,160 00.0
NEET STRTET 123 0.7 EEEL 584 00.0 FEE #th 33,367 00.0
0| SRS N 2,570 0.7 BINE 21,17 00.0 £ B&iE T 718 00.0
NEYES EXEL) 757 0.7 &iRM 34,24 00.0 FEE it 8,964 00.0
0| SRE [EToET:) 973 0.7 HET 1,14 00.0 FER FrLL 7,894 00.0
NENT HEH 2,554 0.7 TR 588 00.0 FEE NFHRT 5,352 00.0
] [EEEY e 614 0.7 & 4,336 00.0 FEE ErFm 8,656 00.0
0 LLE R ,707 0.7 SFMET 1,220 00.0 FER [Gq 1,794 00.0
] Y =Emh 668 0.7 Bl 9,392 00.0 FEE ST 7,890 00.0
] [EY K HET 829 0.7 BEXT™ 4,285 00.0 FER BiEM 5,182 00.0
] [EY SEFTHET 966 0.7 & 4,903 00.0 FER i 2,434 00.0
] [EY AREH 118 0.7 JI 4L BT 666 00.0% FER SERT 12,145 00.0
] [ENEY SEXHT 912 0.7 SEIEET 3,156 00.0% FER PO EHE T 7,826 00.0
0|7 LI & {im o BT 638 0.7 FiE i K AT 719 00.0% FER /o iEth 5,234 00.0
0|85 ZEEHM 1,771 0.7 P HE BT 1,284 00.0% FER I\ 4,074 00.0
NS NGRS 290 0.7 73K ET 335 00.0% FER EN#a 10,334 00.0
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] =]} =1} 23,657 0.7 AE HEZ AT 734 00.0% FEE EEai 5,56 00.0
o[lhOE WO 14,389 0.7 EHE B LT 1,468 00.0 FEE =2 28 00.0
M=} HiFk 2,035 0.7 EHE JK SR HT 1,342 00.0 FEE FEAT 018 00.0
= =i 1,23 0.7 EHE 3t BT 114 00.0% FER [mEE 315 00.0
0|ES BER 16.92 0.7 EHE AT 717 00.0% =8 FEH 4,292 00.0
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83| 1@ 12 HEM 5,326 0.9 01[2FE 47U HET 1,146 88.5% 697 B8 KER 57 33.3%
83 | 13 iE] 12 t2Em 6,77 0.9 702| KB AF i 4,564 88.4% 702 LHEH 1,201 8.6%
83 | #1312 SEEH 2,26 0.9 703[dtE i AT 1,961 88.2% 703 R T 89 5.0%
83 | 13 12 N 2,000 0.9 703| &FE TEA T 6,508 88.2% 703 EL 50 5.0%
83[1a 2 BRI )1 5,024 0.9 703[ 1L 2 A& BE 378 88.2% 705 ZEHT 624 0.0%
83 | 13 [iE] 12 [EET) 2,801 0.9 103|EE 2 BB )T 5,999 88.2% 705 7P HT 851 0.0%
83 | 13 iE] 12 S RET 4,467 0.9 7103 |EIRSE AT 487 88.2% 705 FITHT 506 0.0%
83 | #1312 JERRHT 3,065 0.9 708|dtiEE tEE 80,024 88.0% 708 —Fth 1,58 18.2%
83 | 13 [ 12 ALLIET 997 0.9 109|=RE SEREHT 1,151 87.9% 708 & /I T 71 18.2%
83 | 13 12 FHE T 5,065 0.9 710| KB AF PN A 4,774 87.8% 710 —+aff 46 0.0%
83 | 13 [iE] 12 JKEHT 2,065 0.9 TM|=RE HiEH 1,666 87.7% 710 BT 4 BT 5 0.0%
83 | 13 iE] 12 3= 2 BT 1,582 0.9 712| KBRAF PO {8 T 3,994 87.6% 710 FOEHT 36 0.0%
83 | #1312 SRTET 2,584 0.9 713[dtimE BT 293 87.5% 710 FR =TT 49 0.0%
83 | 13 [ 12 RAHT 1,357 0.9 713|dbiEE PINEES] 60 87.5% 710 Ll 94 0.0%
83| 1= 2 EN:Lil 725 0.9 713|118 FH 2 EF) 570 87.5% 710 AL HT 206 0.0%
83 | #3[iE] I i FH BT 3,175 0.9 716 | RS RBIH 2,557 87.4% 710 VLN 2,049 0.0%
83[{EEE EEH 17,836 0.9 7RIS |BARET 1,670 87.3% 710 S FHT 532 0.0%
83[{E 2 Bifith 6,68 0.9 7 |FRE FFEMET 7,043 87.3% 710 I 74 0.0%
83[{EEE ZAH 1,33 0.9 719|ZEE FEESH 8,062 87.1% 710 JtEm 7,220 0.0%
83[{E 2 HFEEH 4,578 0.9 720| b8 2 FRET 417 87.0¢ 710 = FHT 684 0.0%
83[{EEE T 3,909 0.9 IREE EXL) 1,678 87.0 710 ERH 136 0.0%
83| {2 K EHT 419 0.9 720 IR EE =G 6,613 87.0 710 FALFRET 736 0.0%
83[{EEE STALET 824 0.9 723|dtiEE ifF] &% i BT 401 86.7% 710 7 = BT 699 0.0%
83| Rl IR R 19,131 0.9 724[ILFE ITETN: 2,367 86.6% 710 LR FE 71 0.0%
83| RIGIE BT 3,439 0.9 725[FKAE R 2,346 86.5% 710 ERIRES 44 0.0%
83| RIFE RET 10,847 0.9 725|B5IE SLEET 7,825 86.5% 710 HRET 214 0.0%
83| RIFE PN 9,337 0.9 12711 ZRE B A &4t 55 86.4% 710 =ER TR 997 0.0%
83|AEAR I REATH 61,814 0.9 727|B1RE T2 D S HT 73 86.4% 710 LT 44 0.0%
83|AEAR I I\ ,248 0.9 7129| FEHE HFHET 895 86.2% 710 R WRET 1,355 0.0%
83|AEAR I &mh 408 0.9 729|122 RARHT 357 86.2% 710[%& EIET 457 0.0%
83|AEAR IR E&H 4,904 0.9 13| RHE AT 495 86.1% 710[%& NI F 70 0.0%
83|AEAR IR i 3,771 0.9 732[FBE Nz 528 86.0% 710[%& K REHT 7 0.0%
83|AEAR I FEm 3,030 0.9 733|dbimE X IRHET 184 85.7% 710[%& EREEAS 68 0.0%
83[fERIE aim 7,317 0.9 734[ZHE wiEm 5,495 85.6% 710 e 1,796 0.0%
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PN gz QERLAN (EFBENBIS S AT L (LTEF) IZ&Y NS e A N
®%&%ﬁ:ul:1 IESEYOREERYE  ROUIRE [ e e na A REBIBAEE @ H—FuMERIKIT 2RI, 100Mbpskl L)  R5313R%E
[ | 2R i 2 | REER REAREH] AB JELE | R3S R IR & BREES REERFR % IESEBETRES BREER REERER %
83[AEAR I E;‘Mﬂn 1,155 0.9 735O Jtth 3,157 85.5% MBI FERHT 484 0.0%
83|AEAR IR KIZHT 3,759 0.9 736 [FiRE BB 4,208 85.4% N EETS LEHH 6 0.0%
83|AEAR IR 58T 4,586 0.9 737|fHE)INE | KBEET 2,266 85.3% NETT 2R AT 4 0.0%
83|AEAR I A A41 0.9 738 FXEHE =FEET 750 85.2% N EETS FSIES 22 0.0%
83|AEAR IR ZEBRT 075 0.9 739[=F 5 &R 5814 85.1% T10[ZER FIEBAFRHES 434 0.0%
83|AEAR I ZEIRET 349 0.9 740[dtiE TRZHT 522 84.7% 710 FEH 31 0.0%
83|AEAR IR LLIZRET 796 0.9 740[ 4212 i R BT 175 84.7% 710 HE S 32 0.0%
83|AEARIE ST 959 0.9 742| =HRIE AHEh ,890 84.4% 710 Hr5H 14 0.0%
83[ K8 llad 7,271 0.9 743[IF B2 B[l 572 84.3% 710 3Ll 489 0.0%
83| K2 EEH 1,539 0.9 744|4b3EE FEESH 498 84.2% 710 REBEMN 31 0.0¢
83| KR ERL 2,325 0.9 7444t 38 KIGHT 185 84.2% 710 37 1LI#T 1,757 0.0
83| K512 N EHT 608 0.9 7443t imE &Il FF BT 348 84.2% 710 [ ITENH 2,367 0.0
83| = UFIE FERR T 062 0.9 744|122 F)1l H7 5,024 84.2% 710 [ ISR A 142 0.0%
83| = UFIE B mh 575 0.9 748[IHER EELN 765 84.1% 710 [ ] O R PP S 543 0.0%
83| = UFIE ANFRT ,356 0.9 749|dbiEE = ET 704 84.0% 710| EH AR 41 0.0%
83| = UFIE B [l 4,924 0.9 750 4t3EE EEA] 693 83.9% 710/ B & ATERT 735 0.0%
83| H I E FET 2,172 0.9 750 ;B2 ihEEE 43,811 83.9% 710| EH RFNH 20 0.0%
83| = UFIE =BT 2,828 0.9 752 =R £ iRl 1,247 83.8% 710| EH =ERED 4 0.0%
83| = UFIE ARIRET 484 0.9 7534t e FA=L 17 83.3% 710/ B HEIRH 10 0.0%
83| = UFIE FLi 787 0.9 753 | KB AF L8 07 83.3% 710| EH SRR HT 700 0.0%
83[E G2 = T HERT 788 0.9 755|fZE)E | =EH 2,191 83.1% 70| EFE R B A 111 0.0%
SIERESE [EREM 50,677 0.9 756 | #5212 EpM 4,314 82.9% 710[ B3 FE2 Fdi 4,047 0.0%
8EREE |fs&kmh 13 0.9 757[dtiEE S IRET 30 82.6% 710|F#fE 2 HIAZHET 516 0.0%
8I|ERESE [HEM 89 0.9 758[ILFLE i /1| = JERET 3 82.5% 710|542 HI BT 275 0.0%
IERESE [ZEShH 11,668 0.9 75 #;a%tr kS 3 82.4% 710|EpfE 2 /MY 1,354 0.0%
83[EREEE |FmsOFm ,298 0.9 759 | fEIE it 6,56 82.4% 710[ZHE FRKHT 158 0.0%
8I|ERBE [EmE 575 0.9 761 |=HRIE aAm 3,73 82.1% 710[Z5E SIRM 46 0.0%
SIERESE [fAR™ 7,138 0.9 762|4tiEE SE AR AT 42 82.0% 710 KB AF L8 807 0.0%
IERSE [RSH 854 0.9 763G [ E)IET 2,7 81.9% 710|=ZRE ERCTH 1,666 0.0%
8I|ERSIE [iZ/KET 562 0.9 7644t iE /=BT 235 81.8% 710|ZRE BHEH 355 0.0%
SI|ERSIE [Z1ZHT 519 0.9 764|252 2 LET 44 81.8% 710|ZRE ol 50 0.0%
83 fEIE HRERH 27,664 0.9 764|=F 2 %Eitﬂn 735 81.8% 710| SR E 75/ SHT 157 0.0¢
83 fEIE HEZH 9,524 0.9 767|EEE hzE 867 81.6% 710[ @0 AR AT 2,639 0.0
83| fEIE AiEH 5,019 0.9 768| =22 .%Hﬂfﬁ 974 81.5% 710 lLAE St 3,157 0.0
83| ;IR PR T 14,124 0.9 769| = IR EERT 771 81.4% 710[lLEE Bl ik BT 178 0.0%
83| fEIE SREH 7,678 0.9 770[dEEE E Rl 514 81.0% 710[= %012 ERM 531 0.0%
83 fEIE 25Fm 12,608 0.9 PAEET] 2 [iE] BT 2,150 80.5% 710[= %02 BERA 56 0.0%
83[ih IS i 5,159 0.9 RAEEIN-ME R 1,186 80.3% 710| =402 975 +- BT 901 0.0%
83| fEIE makT 4,907 0.9 TR|ERE AHEHT 4,227 80.0 710[= %02 =R 61 0.0%
83| fEIE REBRH 21 0.9 13| ZRE I TN 1,359 80.0 710|212 ERiET 10,044 0.0%
83| fEIE Bl 4,502 0.9 TR[ENE ERail 472 80.0% 710|212 FRIERS 117 0.0%
83| ;IS EAs L] 784 0.9 T6|ERERE |EE)INT 7,834 79.8% 710| = IFE A Y H] 484 0.0%
83 fEIE At 977 0.9 17| EFE —Bh 7,343 79.4% 710];h4RIE FIIH 363 0.0%
83| fEIE AR T A4 0.9 REEETS REFFET 289 78.9% 710] i 4RIE REH 48 0.0%
83| fEIE T L[5 T 4,77 0.9 19| FEHE [ BT 781 78.8% 710]h4RIE ERE 19 0.0%
83| fEIE AR 12 0.9 780 ;A2 PR ) 3,765 78.3% 710]h4RIE FAR 122 0.0%
SIERET 1,14 0 781 | FEE FEE 91,909 77.9% 710] i fBIE EoN 57 0.0%
KRR 58,095 0 782| B4R IE A& RET 6 77.4% - |=ERE aEH 9,741 -
SLHEH 9,051 0 783 | 1@ 12 E[@i B 69,363 77.3% - [BER BiiETH 24,092 -
SkF i 3,794 0 783 | 1@ 12 EAT 4,597 77.3% - |BEE AT 0,377 -
BEHh 14,160 0 785| =28 2 ST 831 76.9% B ESE BEX 3,093 -
HiEErh 8,456 0 786|152 e KT 890 76.8% - [EE# 28X 1,902 -
AT 5,185 0 787 [fEIR AT 1,977 76.1% - |HE# HEX 47,115 -
Em7ILTRH 5,520 0 788| &F 2 FEF1E T 232 76.0% - |HEE# FE T 7,750 -
L 2,232 0 R HEZHE 716 75.9% - |=RIE  [SET 11,095 -
=58 37,147 0 790| FHE N HT 851 75.6% - |@BHE B LT 468 -
BT 32,227 0 791|dbiEE Eil 1,070 75.4% - |BHE K 3 SF T 1342 -
AZEfFH 6,499 0 792[BEE B R HET 494 72.0% - | EHE KHETTH 614 -
HIFE 22,298 0 793|dtiEE FYEHT 136 71.4% - [IRER J\EZHE] 648 -
AR 13,850 0 793 | KB AF 2 32,07 71.4% - |ERREE i ,295 -
fEfEh 311 0 795[#BE {EET 3,20 69.2% - [BREE BHEH 13,438 -
J\E AR HT ,765 0 796 | iEIE FITH 36 68.2% - [BEE TN 35 T 6,9 -
B2 R ET 426 . 797 =W E RFNET 2,570 68.1% - |ZHE =R 45 -
FRE R 0,388 . 79822 =6 861 68.0% - [BBER T 3,08 -
ZRE 2,061 . 799|122 HAOEH 2,487 66.7% - |FERF SRFHR T 68 -
ERSE 7,394 . 00 ;p &2 N ERET 1,205 66.2% - | KBREF RE 595 -
AT 31,843 . 01 [EE 7 = BT 699 66.1% - |[EEE a 6,980 -
EEE 86,378 . 02| REFIZ NS 465 63.6% - | EEE mHhnlm 2,994 -
S 146,247 3 03 [dtiEE KAt 392 60.0% - |[EEE R EEHT 3,122 -
BHE 11,315 3 03| 1& [ 12 KEHT 44 60.0% - | EER EHhbLTMNATHRE 427 -
SRR 43,8 3 03[REARIE KB R U\ R TSRS 2 60.0% - |BRRE EXET) 757 -
EEE 37,1 4 06 | [E] LLI 12 BT 70 59.5% - |[BEE FHSH 4,311 -
806 |tH=)IIE [WF)IE 121,68 4 07| REFIE TR 89 58.8% - EBE EEm 9,606 -
808[JLEiE ERTF A 135 5 08[ZRE T 1,165 54.5% - [RBE R 19,131 -
809t e tEE 80,024 7 09|ZRE L EAL 02 53.3% - [RBE [N 716 -
809| S1E12 SRR 15,467 7 o[dtimE 5 & 16 50.0% - |[RBE & 02 -
811[FER FEE 91,909 8 NS HERH 56 50.0% - [BEXE T 87 -
AR AR AR RS 434 9 s12|=IIIE  [FNIH 187 45.0% - [EXE LIEETH 726 -
813[4&k 2 HEEEIRES 59 . 813|FER fETERT 276 40.0% - [EXE ZEIRET 349 -
I EET BEE 114,19 814 FHE EFH 72 38.5% - |REARE EH {2 BT 841 -
814|i# %2 HEE 31,648 85| FHE A - #7 254 31.6% - [BERSE [RF{HHE 982 -
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